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(A7 : 1)
B B L FE E | Al FE = % i =
I —RSIEBRBAEERRDED
1. REEROSD
(1) BEINE
HAMEERLS 500 500 0
EARMESEFIE 500 500 O|EARBEESFIR
ZhaHE 5,028,000| 5,086,000/ A 58,000
TR 5,028,000| 5,086,000 A 58,000
BRIV 780,000 165,000 615,000
I ESEIES 90,000 90,000 0|&%k. HEILSH
BRERIEEENG 60,000 75,000 A 15,000|HESSINE
SEIEEHEING 630,000 0 630,000 | L HEPRRII20AFELSBLESINE
ZHHERh & 8,240,400| 7,872,600 367,800
SHUSE#E 750,000 594,000 156,000
STHSREMRE 190,000 214,000 A 24,000
STEEIRER N SIRESEE 7,300,400 7,064,600 235,800
oGRS 249,000 261,000 A 12,000
BE - wHEIaSHEaiEs 249,000 261,000 A 12,000|B% -wiElas
FEURES 743,500 677,500 66,000
SHFIE 500 500 olFEEFE
HMEUNZS 743,000 677,000 66,000 |SEEHRES M
(REUNEEt] (A) 15,041,400 14,062,600 978,800
(2) B¥EEAR
BEHE 11,919,200( 10,705,400 1,213,800
@AY= =[:0E=E ) (2,763,000)| (2,665,000) (98,000)
e 191,000 199,000 A 8,000 |HBEFHAIES
=ERE 12,000 10,000 2,000
BEERE 24,000 24,000 0
FIRI & AE 30,000 30,000 0
EHie 20,000 40,000/ A 20,000
2EE 105,000 95,000 10,000
ARBEEE 393,000 364,000 29,000 |BRHE. HeI/X
=ERE 60,000 55,000 5,000
BEERE 9,000 9,000 0
SHERE 230,000 222,000 8,000
FIRI & AE 3,000 19,000/ A 16,000
Zih&igs 89,000 57,000 32,000
2EE 2,000 2,000 0
BisliRSEE 30,000 28,000 2,000 | Bt EZ L RIE
2EE 12,000 10,000 2,000
/N -ti=kr 18,000 18,000 o|l&2EAEEME
BOLEREE 360,000 290,000 70,000 |S3RF(TH, HORFES 1
2EE 12,000 10,000 2,000
BEERE 98,000 100,000 A 2,000
SHFERE 65,000 10,000 55,000
FRI & AE 185,000 170,000 15,000
HaamEE 78,000 85,000 A 7,000|taE80EEE
SHIEmE 28,000 35,000 A 7,000
ZihEiEE 50,000 50,000 0
RERIRSEE 1,711,000 1,699,000 12,000 |[(PEEE, —RBENE. EEs
BEERE 144,000 144,000 0
SHIEmE 10,000 30,000 A 20,000
HE&E 308,000 292,000 16,000
FRI B A E 66,000 66,000 0
R e 718,000 714,000 4,000
ZiNEEE 95,000 95,000 0
2B 370,000 358,000 12,000




B B L FE E | Al FE = % i =
(UNZEEEEE) (1,321,000)| (568,000)| (753,000)
EHEESE 83,000 80,000 3,000 |[ERIEEHES
=ERE 18,000 15,000 3,000
FIEHEEE 65,000 65,000 0
SEIRWMEE 55,000 75,000 A 20,000 |=EE8HiHEE
=ERE 15,000 11,000 4,000
SEIBMIEHEE 40,000 64,000] A 24,000|=BE®RRES
SERIREE 1,183,000 413,000 770,000 |2EAS. HiEELE
SAEARE 115,000 73,000 42,000
SEXRE 1,068,000 340,000 728,000 | & HEPIRII20EAETSTE b
(BEBEOD>SBEERESD) | (7,835,200)| (7,472,400) (362,800)
A NFEREE | (6,855,800)| (6,706,000)| (149,800)
EERE (979,400)| (766,400)| (213,000)
BRIy 4,777,600 4,573,920 203,680
BHEEE 835,200 758,940 76,260 |HHRiER 4
REZBE 428,800 268,320 160,480
BEERE 506,400 493,740 12,660
SHIERE 247,200 283,920 A 36,720|FBARE 1
FIRIEAE 12,000 39,000 A 27,000
RRIE 144,000 187,200 A 43,200
&8 364,800 355,680 9,120 |B75Fh. BELS
R 182,400 177,840 4,560
e 120,000 117,000 3,000
)— 2% 176,000 161,460 14,540
ZHAFER 32,800 47,580 A 14,780|=i%&EM fth
B 8,000 7,800 200
EHE 3,112,300| 3,115,000 A 2,700
=ERE 1,012,000 866,000 146,000
ZiNEiEE 10,000 10,000 0
BiEs 101,500 101,400 100
BNETE 30,000 30,000 0
ATy 1,194,400 1,290,080 A 95,680
BHELEE 208,800 214,060 A 5,260
REZBE 107,200 75,680 31,520
BEERE 126,600 139,260 A 12,660
SHERE 61,800 80,080| A 18,280
FIRI & AE 3,000 11,000 A 8,000
RRIE 36,000 52,800 A 16,800
EEn 91,200 100,320 A 9,120
fRE&AY 45,600 50,160 A 4,560
BEEEN 30,000 33,000 A 3,000
)— 2% 44,000 45,540 A 1,540
ZINFER 8,200 13,420 A 5,220
B 2,000 2,200 A 200
(FE&EMET] (B) 15,031,500( 13,820,400| 1,211,100
LHRREIEREE (A —B) 9,900 242,200 A 232,300
2. BEINSROED
(1) FEIUE 0 0 0
BREINN ST 0 0 0
(2) BENEHR 0 0 0
BRENER 0 0 0
(S HA— RSB R EE LS R EE ] 9,900 242,200 A 232,300
(— AR IERREAE RIS &S] 14,329,846| 13,548,327 781,519
(— AR IERREAEEHAR I = ] 14,339,746| 13,790,527 549,219
I 5 7TE IELREAEE IR SR
SERRERME 7,300,400| 7,064,600 235,800
— R IEREAEADIRES A 7,300,400[A 7,064,600] A 235,800
(IEPREAEERAR GRS ) 14,339,746 13,790,527 549,219




